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Overall Description:
TSG GERAN WG3 has identified few points in TS 04.60/44.060 that could lead to different interpretations in the EGPRS acknowledgment procedure. 
First opened point : BOW=0
§ 9.1.8.2.3 :
The BOW (begin of window) bit shall be set if SSN = [V(Q) + 1] modulo SNS, the EOW (end of window) bit shall be set if [V(R) -1] modulo SNS is explicitly included in the bitmap.

§ 9.1.8.2.4 :

Firstly, if the BOW bit in PACKET UPLINK ACK/NACK or EGPRS PACKET DOWNLINK ACK/NACK has the value '1', then the bitmap acknowledges all blocks between V(A) and (SSN- 2) (modulo SNS), and the corresponding elements in V(B) shall be set to the value ACKED. Also a bitmap value of '0' is assumed at the bit position corresponding to (SSN-1) modulo SNS which corresponds to V(Q).

and § 12.3.1 :
BEGINNING_OF_WINDOW (BOW, 1 bit field)

This bit indicates if the Ack/Nack bitmap starts at the beginning of the window.
0
SSN not equal to (V(Q)+1) mod 2048.
1
SSN = (V(Q) +1) mod 2048

These subclauses give a clear view of how to interpret BOW set to ‘1’:
· SSN=[V(Q)+1] mod 2048,

· BSN=[V(A) to (SSN- 2)] mod SSN are positively acknowledged,
· and BSN=[SSN-1] mod SSN is negatively acknowledged.
TSG GERAN WG3 is confused on how to interpret BOW set to ‘0’:

How to interpret ‘BOW=0’ ? Is ‘BSN = [SSN-1] mod SSN’ still negatively acknowledged when BOW=0 (i.e. SSN is not equal to [V(Q)+1] mod 2048) ?

Second opened point : BSN retransmission  
§ 9.1.3.2
If [V(S) = V(A) + WS] modulo SNS (i.e., the transmit window is stalled), the sending side shall transmit the oldest RLC data block whose corresponding element in V(B) has the value PENDING_ACK, then the next oldest RLC data block whose corresponding element in V(B) has the value PENDING_ACK, etc. If all RLC data blocks whose corresponding element in V(B) has the value PENDING_ACK has been transmitted once, the process shall be repeated beginning with the oldest RLC data block.
TSG GERAN WG3 believes that there is two ways to understand the notion of “oldest”. 
One is to consider RLC data block with the lowest BSN is the oldest, and the other way is to consider the oldest as the first RLC data block (on “time” basis) with the PENDING_ACK status. 
What would be the exact definition of the “oldest” RLC data block with the PENDING_ACK status ?
TSG GERAN WG3 would kindly ask TSG GERAN WG2 to clarify the two points raised above, as no conclusion was possible based on the current core specifications.
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